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Lesson 19
Aim: How do we solve quadratic equations by the
completing the square method?

HW: Ch. 5 Read pages 186 to 192
page 192 #4,8,19,22,30 Ch 3 page 112 # 17

Do Now:
Factor:
1. x* - 4x +4 (x-2)(x-2) or (x-2)
Solve for x:
2. x% - 6x - 7 x-7(x+1)= 0
x-7=0 x+1=0
x="17 x=-1
3. x> - 6x +7 CAN NOT BE FACTORED

e What do we do????
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or Completing the Square x2-6x+7=0
ve the constant term x2-6x = -7
the other side.
d the square of half of Co6x = -7

ddle term (coefficient of b).

. A (Divide 6 by 2 to help get the perfect square)
1 this to both sides.

tor to find the x2-6x +32= -7+32
- square. ,
e the square root X*-6x +9 = -7+9
1 sides. ,
ve for x. X“-6x +9= 2

(x-3)7 =2

fx- 37 =2

x-3 = + \2

X = 3+ \2
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Example :

October 17, 2009

X2+6x+2=0

X> + 6X + =-2+__

X2+6x+9=-2+4+9
(x+3)2=7

Jx+372 =47
Xx+3==%./7

x=-3%-/7
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Solve: 2x*+8x-3=0
Solve for x;: 2x2+8x-3 =0 Each termdivided by
2 2 9 the leading coefficient
Move the

x*+4x =

+ 3 + 3 constant to the

2 2 right side.

3
2

Add the square of

3
.X2 +4x+4 = ;+4 the middle term on

(x+2)°

I+

hnath cidas

Factor left side and

7 simplify right side
aKe square root on b«
11 Tak tonb
— sides
2
w/ solve for x
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Solve for x by completing square

1.Xx2+6x+3=0 —_3+.6

2 X2—dx—B=0 2+.10

3.x2+10x+17=0 —SiZ\E
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